Problemas de Matematicas 4° de ESO

Polinomios

Problema 1 Factorizar:

1. 2t 4 323 — 152% — 192 + 30

2. x® — 2% — 23 4 222

3. 2t — 322 + 22

4. x® + 32* — 52 — 2722 — 322 — 12

5. 25 — 32t — 623 + 102% 4 212 + 9

6. x® + 32* — 422

7.2t =223 — 2% 442 -2

8. at — 7% 4 722 + 21z — 30

9. 2t +62% — 1222 — 302 + 35

10. 2t —22% — 522 + 42+ 6
Problema 2 Simplificar:
25 + 5t + 623 + 622 + 9z — 27

1.
2 42r—3
9 28 b — Tt 23 1022 — 62
’ 3+ Tx2+7x— 15
5 xt + 423 — 2222 — 42 + 21
' -2 —z+1
A x® + 122% + 2223 — 8422 + 49x
Tt — 1623 + 78x2 — 1122 + 49
. z® 4+ 10z* + 342 + 3622 — 272 — 54

2 +1
Problema 3 Reduce a comin denominador y efectua la operacién corres-
pondiente:
2+ 1 z+1

1.
r—1 x(2?2-1)

r+1 r—1

C(x—=D(x+3) (z—2)(z—1)(x+3)
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x2—1+:1;2+:c
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z+1 1
x3—8x2+21x—18+$2—4$+3
2 _ 1
23 +922 +152—-25 a3 +322—-9x+5
2x 1

$3—6:c2+11x—6+3:2—43:—|—3
T 3z
3 —3x+2 a3 —4x24+5x—2

1 x
2 —-3x+2 a3 —4224+5x -2
2 x
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